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INSTRUCTIONS

All questions are of objective type having four answer options for each.

Category-I: Carry 1 mark each and only one option is correct. In case of incorrect answer
or any combination of more than one answer, % mark will be deducted.

Category-1LI: Carry 2 marks each and one or more option(s) is/are correct. If alk. correct
answers are not marked and no incorrect answer is marked, then score = 2 x number.of correct
answers marked + actual number of correct answers. If any wrong option. is marked or if
any combination including a wrong option is marked, the answer will be considered wrong,
but there is no negative marking for the same and zero mark will be awarded.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,

B, C or D. Question booklet series code (A, B, C or D) must. be properly marked on the
OMR.

Use only Black/Blue ball point pen to mark the answer by /complete filling up of the
respective bubbles.

Mark carefully only in the specified locations of the. OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination center and put your full signature
in appropriate boxes in the OMR.

The OMR is liable to become invalid if there is any mistake in filling the correct bubbles
for question booklet number/roll number or if there is any discrepancy in the name / signature
of the candidate, name of the examination center. The OMR may also become invalid due
to folding or putting stray marks on it or any damage to it. The consequence of such
invalidation due to incorrect‘marking or careless handling by the candidate will be sole
responsibility of candidate.

Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones etc. inside the examination hall.
Any candidate found with such items will be reported against and his/her candidature will
be summarily caneelled.

Rough wotk-must be done on the question paper itself. Additional blank pages are given
in the question paper for rough work.

Hand over the OMR to the invigilator before leaving the Examination Hall.

This paper contains questions in both English and Bengali. Necessary care and precautions
were taken while framing the Bengali version. However, if any discrepancy(ies) is/are found
between the two versions, the information provided in the English version will stand and will
be treated as final.
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LIFE SCIENCE
Category-I (Q 1 to 30)
(Carry 1 mark each. Only one option is correct. Negative mark: -%)

1. When Insulin is produced in the laboratory, the process is called

(A) Genetic Engineering (B) Micropropagation
(C) Bioassay (D) All of these

T4 SICTRNNE TP 2T 1 2, O (13, A=S® I

(A) e HfgRmiE: (B) WRGieteis
(C) TSI (D) 9afer 73

2. In our body, fat functions as the solvent of

(A) Tocopherol (B) Thiamine
(C) Niacin (D) Riboflavin
R H[NE@E WRERe @ @i 0 1k 2

(A) GITIEI (B) i

(©) Fafw (D) AR

3. Which of the following nitrogenous base is not present in DNA?

(A) Thymine (B) Uracil
(C) Adenine (D) Cytosine
e @F ARGEETe 0 Tara oA §i?

(A) AERA AB) T
(C) SOITei== (D) FARGIE

4. Which of the following digestive enzymes can digest protein in the acidic condition?

(A) Trypsin (B) Pepsin

(C) Erepsin (D) Renin
BRI @ AR SeETEF SEE NG FIe FH09 AT ?
(A) TGeif= (B) oot
(©) TR+ (D) e

5. Which of the following is not formed from Haemoglobin within our liver?

(A) Haeme (B) Bilirubin
(C) Biliverdin (D) Lecithin
R @ @ 15 ReaifRa (9w Som 2 2

(A) fu ~(B) Rferef
(C) Rfereifen (D) @fH{ew
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6. At present, how many nuclear power plants are there in India’

(A) 3 (B) 4
©) 5 (D) 6
TENA SRS T oraeifis Rygacey wire?

(A) 3 (B) 4
© 5 (D) 6

7. Find out the correct order.
(A) Stimuli — Receptor — Motor neuron — Nerve centre — Sensory neuron — Effector — Response -

(B) Stimuli — Receptor— Sensory neuron — Nerve centre — Motor neuron — Effector — Response |
(C) Stimuli — Effector — Motor neuron — Nerve centre — Sensory-neuron — Receptor — Response
(D) Stimuli — Effector— Sensory Neuron — Nerve centre — Moter neuron — Receptor — Response

Ao S o st |
(A) THIE — AT — (6T SR — @R FYOF - G ORI — IS — G

(B) TR — &TF — GFRIR NOEIN — @@ 9T - (67 FOwM — I — Aot
(C) THAT — IS — W0 O — (TR FYST > G WO — &S — ol
(D) ST — TS — CTAR FEEH — @@ FDE— (@57 FSEH — a15F — Aol

8. Which is not a check point of the cell cycle?

(A) G1 > S (B) G2>M
(C) M > Gl (D) S

@D BT I 6P 20D A2

(A) Gl —>S B) G2-oM
(C) M - Gl (D) S

9. Which of the following constitute a food chain?

(A) Grass, wheat and mango (B) Grass, goat and human
(C) Goat, cow-and elephant (D) Grass, fish and goat
frafaRe @b 3 M- fom s e

(A) 9, 519 WL Sy (B) 91, Roiet @33 Wi

(C) =I5, (ol @R e (D) 9, Mg 3 e

10. Which of the following is not a part of the female reproductive system in human beings”

(A‘) Ovary (B) Uterus

(‘C) Vas deferens (D) Fallopian tube

Fsfafe e A-saniea eweer st

(A) fCmpy (B) wrany

(C) o fewmizm (D) #tsifenmm Beg il
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11. Which of the following group is not present in the amino acid?

(A) —COOH (B) —OH
(C) —NH, (D) —CN
frafaie spetafra sca i surifRen snbne 4 w12

(A) —COOH (B) —OH

12. Thyroxin is secreted from which of the following glands?

(A) Pituitary (B) Adrenal
(C) Testis (D) Thyroid
e afelm s @b @@ ARFRE e =

(A) fpRoIfE (B) SIGA
(C) s&FM (D) I

13. Which of the following is associated with schwann cell?

(A) Dendrite (B) Axon
(C) Cell body (D) Synapse
Rl T @Rt A @me @ e

(A) CoTERS AB) SIS

(C) @Mtz (D) AR

14. Which one of the following is the vestigial organ of human?

(A) Pancreas (B) Liver

(C) Appendix (D) Gall-bladder
frafEReufa sw e sigaa g o

(A) S (B) TP

(C e (D) ferewa

15. Number of air-sacs present in pigeon are

(A) 7 (B) 7 pair

(C) 9 pair (D) 9

ARTAN (T2 AR eaa e 2

A) 7% (B) 7 (eimel

(C) 9 el (D) o5 vl ok 1 i
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16. Which one is nitrogen fixing bacteria?

(A) E. Coli

(C) Rhizobium

AREIE AT WG A 2
(A) E. Coli

(C) Rhizobium

el
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(B) Bacillus
(D) Helicobacter

(B) Bacillus
(D) Helicobacter

17. Which one of the following causes biomagnification?

(A) Air-pollution
(C) Light-pollution

e @mi amsmsRia-9a S92

(A) R
(C) eTIT-739

18. Mendel is popular for postulating
(A) Cell Theory
(C) Linkage Theory
A=l @M qew o= e Reres
(A) i fRefd
(C) Fieee fRefz

19. Which is the natural auxin?
(A) 2,4-D
(C) IAA
AFfes wiem e
(A) 2,4-D
(CL1AA

(B) Water-pollution
(D) Sound-pollution

AB) A
(D) *rrgad

(B) Laws of Inheritance
(D) Origin of Species

B CERifeE g
(D) wifsifer =1 i

(B) NAA
(D) IPA

(B) NAA
(D) IPA

20. Whi i
hich of the following parts of the brain regulate body balance?

(A) Cerebrum

(B) Cerebellum

(C) Hypothalamus (D) P
ﬁﬁ%&@ﬂ%m@mm*ﬁ*@m@mwmv =

(A) =3 . -mﬁmam
(09 R ((g; Ao
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21. Which of the following compounds is found in the cell wall of fungi?

(A) Cellulose
(C) Hemicellulose

BANEA PMABIE @ Wd Toifze a2

(A) GRS
(C) ERCFETS

22. A cross between unlike organisms is called

(A) Test cross
(C) Heterosis

7% 72T G N FFARNT e
(A) (5% &
(C) GEIkm

(B) Chitin
(D) Pectin

(B) Fi2foq
(D) oo

(B) Back cross
(D) Hybridization

(B) I
AP) ZRRwRrE

23. Which protein is found in the core of a nucleosome?

(A) Histone
(C) Globulin

NEPemItR @ @ @i $4fye e

(A) Resm
(©) clifkelm

(B) Albumin
(D) Collagen

(B) SUi=gfw
(D) lEicE=

24. Which of the following plant group 'is not spermatophyte?

(A) Gymnosperms
(C) Pteridophytes

faffds @ Sfew (o8t =Afeeizs 32
(A) fErEr=int
(C) GRTerEzE

(B) Monocots
(D) Dicots

(B) CRITAIRGT
(D) TR

25. Which agglutinogen and which agglutinin are present in the blood group B?

(A) B and Anti B
(C) B and Anti A

(B) A and Anti A
(D) A and Anti B

B 20719 0@ (@1 wigfbicem @ c@in wigfbfia SefEe e

(A) Bz wi% B
(C) B9 =% A

(B) A @3 =0If% A
(D) A 932 =% B
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26. Animals which lay eggs arc called—
(A) Viviparous
(C) Oviparous
@ A fEn oiite S AA—

(A) TS

9 e

27. Find out the correct match from the following:

(A) Pancreas — Mixed gland
(C) Ovary — Exocrine gland

e (A Al e Jrar ata et
) i — e aify
() fommm — aRewat afg
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(B) Carnivorous
(D) None of these

(B) Spleen — Endocrine gland
(D) Skin— Mixed gland

(B) Ay — (el afg
(D) v — fied &ifg

28. When number of a particular herbivore increase inaforest which type of struggle can be found for

food?
(A) Intraspecific
(C) Both (A) and (B)

(B) Interspecific
(D) None of these

CRICT! SRCEH) T24eT CRICT! ol e e iGia iR 3 =i waie 2w ey (bl 2274 SNRal o7l IR 2

(A) SBseEife
(©) (A) 932 (B) T2

29. The amount of DNA becomes 4C from 2C in which subphase of interphase of

(B) Sigseenfe
(D) 9sfEg @it w1

a cell cycle?

(A) Gl (B) S

c—f;‘)i G2 (D) Gy
(A)Tm G BRI DNA-GR ARSI 2C (R 4 Uk
- (B) S

€ G2 (D) Gy

30. We feel bodyache after vigorous exercise due to

(A) accumulation of urea j
g urea in our body.
(C) ¢

(A) ST ez B8 fm o et

(€) S e 2 Siierterreet s et |

accumulation of ethyl alcohol in our blood.

@ﬁwﬂmﬂmwwmmmmm

(B) accumulation of lactic
(D) accumulation of
T =&

acid in our muscle.
glucose in our muscle.

~(B) SN oiffite e syt e aielt|

(D) S04 cotf¥ics ajrentes wioy et |

ANM(R) & GNM-2024 8
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LIFE SCIENCE
Category-II (Q 31 to 40)
(Carry 2 marks each. One or more option is correct. No negative marks.)

31. What is the age of Adolescence in human according to WHO?

(A) 10-20 years (B) 10-19 years
(C) 13-21 years (D) 12-21 years
WHO SIIR! AT I8 7ol T T 2

(A) 10-20 T=5 - (B) 10-193=F
(C) 13-21 =9 (D) 12-21 3=

32. Which of the following matches is correct?

(A) Monocular vision — Man (B) Binocular vision — Horse
(C) Monocular vision — Horse (D) Binocular vision — Man
A5 @ e AT
_(A) GF0E 7% — W ~(B) Tt1a 78 — el
(C) 9FcTa e — carel (D) ot 7f% — T3

33. Regeneration seen in—

(A) Amoeba (B). Octopus
(C) Hydra (D) Planaria
sie (Rl AR—

& i (B) @@t
(C) 2% (D) &

34. Which are exotic species introduced to India and cause harm?

(A) Dalbergia Sissoo (B) Parthenium hysterophorus
(C) Eichornia Crassipes (D) None of these
st el e s IR 2wifs i sifwaem =/ w@:?

(A) TR siig (B) ==z Reveneian
©) =i (D) vzl @D T

35. Cadmium compound can cause

(A) skin cancer in human. (B) lung cancer in human.

(C) brain cancer in human. (D) liver cancer in human.
SRR SO (@t (A R ="

(A) 97 = 20 AN | (B) TIECIR I 0@ A |

(C) RETER T 20@ A |

ANM(R) & GNM-2024 9
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36. In which of the following places conservation of Tiger Project is running?

(A) Jaldapara (B) Bandhavgarh
(C) Kanha (D) Vitarkanika
e @ gafers g s 455 bie wltR?

(A) Gemi#ie] (B) AT

(C) I+ (D) foegafat

37. Metabolic disorders depend upon the functioning of

(A) Heart (B) Muscle
(C) Liver (D) Pancreas
RS iRl @ T =R Fiee So Few w ok 21

(A) 7ot (B) i
QT D) W

38. Which are the living permanent tissues in the matured condition?

_ (A) Schlerenchyma (B) Parenchyma

? (C) Chlorenchyma (D) Collenchyma
AR SR @ el Giie?

’ (A) BRI (B) “CTHIESI
(C) Gtz (D) PRI

39. Oxygeneted blood enters the heart through

(A) Right Auricle (B) Right Ventricle
(C) Left Auricle (D) Left Ventricle
SRS 6. (A 9 A Defie A3 G, ©f T

(A) ©IF SIfeTq (B) ©iv faerx

(C) =T+ (D) A foer

40. The process of engulfing food and water by Amoeba is called

(A) Engulfing and Absorption (B) Phago_cytosis and Pinocytosis
(C) Both the above are correct (D) None is correct

SO ez @ ez AEfeCE @l 2 y

(A) o 510 oot (6 WG ¢ PrArTREEe
(C) TSGR 43 fies (D) @R 5 7
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PHYSICAL SCIENCE
Category-1 (Q 41 to 55)

(Carry 1 mark each. Only one option is correct. Negative mark: -'4)

41. Which one among the following is equal to 1A?

(A) VQ B) V'Q
(©) Cs (D) cs*
AE 24wE @FA0 1A-T 2T IR 2

(A) VO B) V'O
(©) Cs (D) Cs”

42. Main component present in denatured spirit with ethyl alcohol is
(A) Methyl alcohol (B) Naphthalene
(C) Vinegar (D) None of these

TSroT6 PRt 3% SURERETa Aox 24 @ BoAMAD A —
(A) s s (B) "mioialifei®
(©) fefsi (D) @uf @A T

43. A 50kg block is kept on the horizontal floor, the feaction on the block would be
(take g = 10m/s?)

(A) 250 N (B)-50N
(C) 500N (D) 1000 N
g3l wiTeiT @EE eid 9Fh 50 ke ST A W=l 30 e ferme afefem-
g = 10m/s?)
(A) 250N B) SON
(C) 500N (D) 1000 N
44. In the following table select the correct matching between the left and right column:
Left Column Right Column
(1) 1 mole NH; (a) 2
(2) No. of moles in 44-8LH, (b) 176¢
(3) No. of moles in 140g N, (c) 17g
(4) Wt. of 89-6L of CO, d) 5
(A) 1-=¢;2—a, 3—d,4—b (B) 1—b,2—<¢,3—d,4—a
(C)41—=d, 2—a, 3—d, 4— (D) None of these
S5a ARATS A @ T TS 2we TS wos Ame e e !
AT TS "\‘\"}
(1) &F (= Syt ) 2 .
(2) 44-8L H,43 (& 4yl — (b) 176¢
(3) 140g N,~43 (I 31 (c) 17¢g
(4) 89-6L CO,~43 €& d) 5
(A) }—¢, 2—a,3-d, 4-b (B) 1—b, 2—¢, 3—d, 4—a
(C) 1—d,2—a,3—d,4— D) agfm @wihE W

ANM(R) & GNM-2024 11 P
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45. A body gets accelerated
(A) when an unbalanced force acts on it. (B) when a balanced force acts on it.
(C) when there is no effective force on it. (D) None of these
Gl qwde 9l «ifs #e
(A) T G waifefiie 9 ox eslq Tl 70@ | (B) 9 w3l afefire @71 e eAq fam @
(C) TR 63 87 (FIA TR 351 farl I A1 (D) @eferd (e 7

46. Which of the following is having identical electronic configuration like He?

(A) Li* (B) Na*
(C) ]—'i++ (D) H+
Mo I SEoa Zrewsa Reyet ffemicm wwere L) v
(&) Li’ (B) Na* L O
47. Cold and dilute nitric acid produces hydrogen gas when it reacts with a particular metal; name of
the metal is
(A) Zn (B) Cu
(O) Fe (D) Mg
Sreoet @ =g ARGF =ibe @emig @3 g Tt [ 2R SUF el Thre AE; A
25
(A) Zn (B) Cu
(C) Fe (D) Mg
48. The order of reducing power of the halogen is
(A) I>Br>Cl>F (B) C1>F>Br>1
(C) F<Cl<Br<I (D) F>Cl>Br>1
e (MaefR Regd From @it 2
(A) I>Br>CI>F (B) C1>F>Br>1
(C) F<Cl<Br<I @F>C1>Br>1

49.

V—

The V-I graph of a substance is given; the substance is a

(A) Metallic conductor (B) Ohmic Conductor
(C) Non-Ohmic conductor (D) An electrolyte
@ 9 Awiela VoI @rafoa Seita (reat Tare; Amd’ —

(A) 49 SR _(B) a2y AR

(C) s-ezdiy AR (D) Sfefio

ANM(R) & GNM-2024 12
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50. \(/:)Cgsﬂl’;;lhc aqueous solution of acetic acid in which the percentage of acid is usually
P i (B) 9-12%
(€) 10% (D) less than 5%
e =1 S wibines e g4, «ars SeifEe ea el s —
(A) 5-8% (B) 9-12%
(C) 10% (D) 5%-99 I
51. In case of electrolysis the oxidation occurs at
(A) cathode (B) anode
é(é) both in cathode and anode (D) None of these
GefArsae-«F T TR 90
(A) TCdICe AB) OGS
(C) WAT-B[IAG TSRE (D) @efr @IEIbE
52. ‘eV’ is the unit of
(A) Potential (B) Power
(C) Work (D) Ionisation energy
eV’ GFF0 @ AR T 37 T A 2
a) fres (B) =wol
(C) S AD) S HifE
53. An object is kept at a distance of 20 cm frém a Goncave mirror having focal length 10 cm; the size
of the image would be
(A) diminished with respect to the object. (B) magnified with respect to the object.
(C) equal to the size of the object. (D) can’t be said.
I @ R 10 cm CRIHTG RS Sree 7o (A 20 om TS T WE; AFSRCT AL
(A) I AACE F7 LA (B) 3% eATw Rafde =A|
(C) <EF AT AT 23 (D) W8 F! 78I T
54. A nursefindstheincrease in temperature of patient as 4-5°in Farenheit scale; the equivalent increase
in Celcius scale is
(A) 81° (B) 40-1°
() 29° (D) 2:5°
T AT A (R TRl FIEFRIZD R 45° 9 20 (T 9 Bl % G
RIS
(A) 81° (B) 40'30
(C) 2:9° (D) 25
55. The permissible limit of pH in drinking water is
(C) 7-5-9:5 (D) 5:5-85
o wETE pH-GF SIACel S 2
(A) 6-8 AB) 6-:5-8:5
(C) 75-9-5 (D) 5:5-85

ANM(R) & GNM-2024
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PHYSICAL SCIENCE
Category-II (Q 56 to 60)
(Carry 2 marks each. Only one option is correct. No negative marks.)

56. The dimensional formula of latent heat is

(A) LZ-I;-Z (B) L—2T2
(G LT (D) LT
selel ARG M s g

(A) LZ'T_Z /(B) L—2T2
(C) LTZ (D) L2T

238 - . )
57. 4,U™" emits an a particle. The product has mass number and atomic number— :

(A) 236 and 92 (B) 234 and 90 1
(C) 238 and 90 (D) 236 and 90 :
U™ (A @36 0, Tl 5o 2e1 Seoly wayfEa waoicayl @ sArasieifRs skt TG

(A) 236 932 92 (B) 234 &3: 90

(C) 238 €32 90 (D) 236G3R 90

58. Sound wave is a

(A) Transverse elastic wave. (B) Longitudinal elastic wave.

(C) Electromagnetic wave. (D) None of these

oI YIYFIT

(A) 55 Bfogiere o= (B) sy Rfogeis oa% |
/(C) O PN LSS RACEER (D) 9efea @ETE =

59. When a 100 W bulb glowsfor)l min. the energy consumed by it is

(A) 1kJ (B) 100]
(C) 6kI (D) 60017
100 W SsToi =i (el qlera 1 i 4@ e @ & 358 28—
(A) 1KkJ (B) 1007
(C) 6kJ (D) 6007

60. A carismoving withan acceleration of 5 m/s; if anidentical car is attached to that car, the resultant

acceleration would be

(A) 5m/s? (B) zero ,

(C) 25 m/s’ (D) 1-25 m/s

@I SIS 5 m/s? GRe-97R SIfoReT; ©fF 0t Sihet @B ife gre e oe g3 T
(A) 5m/s? B) ® 2

(C) 25 m/s’ (D) 1-25 m/s

14
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ENGLISH
Category-I (Q 61 to 75)
(Carry 1 mark each. Only one option is correct. Negative mark: -14)

61. Choose the word which means the same as ‘Awesome’.

(A) Surprising P (B) Excellent
(C) Very bad (D) Poor

62. Choose the word which is opposite in meaning to ‘Active’.

(A) Brave (B) Ugly
Q) Lazy (D) Coward

63. Out of the four alternatives given, select a similar sentence in indirect speech:
She said to me, “You will reach there at 12 noon tomorrow.”
(A) She asked me to reach there by 12 noon the previous day.

‘/(B) She told me to reach there by 12 noon the following day:
(C) She wants me to reach there by midday.
(D) I was directed by her to reach there by 12 noon thatday.

64. Fill in the blank with the appropriate option given below in the following sentence:

“T will look the meaning of the word in the dictionary.”
(A) at (B) into
(C) up D) out

65. “He studies in university in Delhi.”
In the above sentence, which of the following options may be correctly used?
) the (B) a
(C) an (D) those

66. Choose the alternative that correctly fills up the blank in the given sentence:

“The wounded soldier was on the stretcher.”
(A) lay ~B) l%ed
(C) lain (D) lie

67. Choose the correct alternative:

“The patient before the doctor came.”
(A) died ~(B) hgd died
(O) die (D) dies

ANM(R) & GNM-2024 15
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68.

69.

70.

71,

72,

73.

74.

Select the correctly spelt word:
(A) Aedmirable (B) Adm‘erablc
(C) Admireable }D) Admirable

Select the correctly spelt word:
(A) Chuse /(B) Choose
(C) Choese (D) Choos

Select the correct alternative to complete the sentence meaningfully:
“A bad workman with his tools.”

(/A) quarrels (B) quarrel

(C) quarreling (D) quarel

Choose the correct alternative to complete the sentence meaningfully:
“As you SO you reap.”

(A) sown (B). sowed

(C) sow (D) will sow

Choose the word which has nearly thé same meaning as ‘Possess’.

(A) Invite (B) Wealth
(C) Own _(D) Claim

Choose the word which hasijust the opposite meaning of “Finish’.
AA) Start (B) Stop
(C) Complete (D) Turn

Choose‘the noun form of ‘National’.
}A) Nation (B) Nationalize
(C) Nationally (D) Nationalized

75. A person who cannot see is called
(A) Deaf (B) Dumb
(C) Lame AD) Blind
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MATHEMATICS
Category-1 (Q. 76 to 83)
(Carry 1 mark each. Only one option is correct. Negative mark: -14)

1
76. If a+:=l.d&enli1c‘\*.ﬁue of@+ 1is

(A) 0 ®) 1 © a o @

~

1 5
= a-a-;-:l [ SE @+ I W|WW

(A) 0 ®) 1 © a (D) @'

77. Sum of the roots of quadratic equation 2x° - Sx+3=01s

s
A) 2 B) 3 © 3 D) =
20 —Sx+ 3=0— &3 RoOw NeT Tou3m Qs 1
5
A 2 (B) 5 (& ] O <
78. The value of log 27 -10g .9 is
(A) 0 ® =
(&) % (D) None of these
log 27— lo_:_‘?“ggm'q@
3
(A) 0 (B) 3
(© % (D) R W =¥
79. If the area of a cirele is 616 cm’, then the value of the diameter of the circle is
(A) 14cm (B) 28 cm ) 7em (D) 27 em
=5 JuET CET= 616 cm’ T, JEOF I T
(A) 1¥em (B) 28 cm (@) 7em (D) 27 em J

80. If the volume and curved surface area of a right circular cylinder be equal, then the radius of the

cylinder is

(A) 2 unit (B) 3 unit (C) 4 unit (D) 5 unit
<2 TEREIT (IS WIS G ISCETT (R I L, refb I T3
(A) 2 unit (B) 3 unit (C) 4 unit (D) 5 unit
m-r
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81. The principal amount which becomes Rs. 121 in 2 years at 10% compound interest, will be

(A) Rs.50 (B) Rs.25 (C) Rs.75 (D) Rs. 100

RIEEIEES 10%@@@?%@@%2%@%%121%@,%%@

(A) 505 (B) 251 (@) 75T (D) 100 B
82. If E=P-=£,then the value of atbtc is
3 4 7 c
(A) 1 (B) 2 oy 3 (D) 7
a b c a+b+c
—=—=— T, OiF&A -3 W9 TE&
3 4 7 c
A) 1 (B) 2 ©).3 (D) 7

83. If the area of the whole surface of a cube is 216 em?, thendéngth of its diagonal is
(A) 243 cm (B) 4V3cm (C) 6v3cm (D) 8¥3cm

(I TP TSR CFaFe 216 om? 566, BEQ 0 23
(A) 243 cm (B) 443 ¢m (C) 6v3cm (D) 8VY3 cm

84. If sin6 cosO =% , then the value of sin® — cos6 is

1
(A) 0 (B) 1 © 5 (D) 2
sin0 cosO =?12- %, sin® — cosb € W1 2T
(4) 0 ®) 1 © 3 (D) 2

85. A person bought some apples and if cost price of 5 apples be Rs. 6 and the person sells all as 2 apples
for Rs. 3, then profit will be

(A) 30% (B) 20% (C) 25% (D) 10%

4T (I g Wist foeret | 7t 51 STt TeU 6 B0l 20 =g 3 Bt 2% Wit e Riw
(I, OILA O Few *foa 7 @

(A) 30% (B) 20% ©) 25% (D) 10%

ANM(R) & GNM-2024 18




86.

87.

88.

ANM(R) & GNM-2024
‘*Q#i&*!"#tli‘&it.‘.l.‘.‘.‘
GENERAL KNOWLEDGE
Category-I (Q. 86 to 95)

(Carry 1 mark each. Only one option is correct. Negative mark: -%4)

The largest lake in the world is

(A) Ontario (B) Caspian Sea

(C) Lake Superior (D) Baikal
fow T 1
(A) Wi (B) oI o1
(©) T Hfiferra AD) T
The novel “War and Peace’ was written by !
(A) Ivan Turgenev (B) Anton Chekhov
(C) Leo Tolstoy (D) Fyodor Dostoevsky
‘War and Peace’ i« iio foieies |
(A) ToH grsime (B) e (5%
4€) Tore Beb (D) Treva TeEeRX
Who was the First Prime Minister of India?
(A) Indira Gandhi (B). Motilal Nehru
(C) Pandit Jawaharlal Nehru (D) Rajendra Prasad
TIACSF AN AANR (F fHre 2
NEGEIR (B) Gfe= (e
—(O) +fes Tezg@le 12® (D) TS o

89. The capital of Japan is

(A) Seoul (B) Bangkok

(C) Beijing (D) Tokyo
GISAICTR Al 2T n

(A) Fes (B) TFS

(C) 3feR D) Gide

90. The longest river in the world is §
(A) Amazon (B) Mississippi
(C) Nile (D) Yangtze
ez Ao 74l 2= 1
S(A) SIS (B) R
AC) [ W (D) WS
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gas is used to extinguish fires.

N

(A) Nitrogen (B) Carbon dioxide

(C) Oxygen (D) Hydrogen

— T e (Teite 999 24 |

(A) HiEGICew (B) P ©ETHZS
AC) i (D) 22T

92. How many states are there in India?

(A) 28 states (B) 24 states

(C) 29 states (D) 25 states

SRS A0 Aey TR ?

(A) 28 7y (B) 24f 7rey

_(;) 297 ey (D) 25% zEy
93. is the national bird of India.

(A) Swan (B) Peacock

(C) Sparrow (D) Eagle

SE(CERE S B
(A) ™ AB) =
(C) vuiRAR (D) %%

94. How many years are there.in One Millennium?

(A) 100 years (B) 2000 years
(C) 10000 years (D) 1000 years
GF AT ORI QACF?

(AY 100 329 (B) 2000 =8
(C) 10000323 (D) 1000 J==

9s5. chemical element is designated as ‘Hg’ .

(A) Copper (B) Silver

(C) Tin (D) Mercury
I Sotmi ‘Hg® RO Site w1 &7 |

(A) o= (B) =&l

(€) = ’ P) i

ANM(R) & GNM-2024 20



ANM(R) & *
GNM-2024 FRERENRATN

FERRERERERER KSR REE RN R RN
LOGICAL REASONING
Category-I (Q. 96 to 100)
(Carry 1 mark each. Only one option is correct. Negative mark: -%4)

96. Choose the correct option in the ( ?) position.
India : Delhi :: Bangladesh : ?

/(é) ghaka (B) Kathmandu
(C) Kabul (D) Beijing

97. Choose the correct option in the ( ? ) position.
22+1,3242,42+3,? T

(A) 5 +4 (B) 52+2
(C) 5*+3 (D) 5%+ 1
98. Find the odd one out.
(A) 36 (B) 64 oo
(©) 121 D) 13 { A

99, Determine the correct alternative, which will replace the question mark.

2 5 7
12 8 20 lA
11 3 7
(A) 12 ~B) 14
{Cy 15 (D) 18
100. Which number will replace the ( 7 ) mark?
7 6 "5 . 4 Ly 7 3
s 56 il
/
q S/ 3 6 8
(A) 59 (B) 18
E) 29 (D) 31

21
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